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Evaluate a numeric exponential power.(Clearly show work)Circle your answer.
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‘**gmale_mmgxpressions with positive integer exponents, using the product property.
Clearly show work. Simplify the exponent expression; then evaluate. Circle your answer.
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Evaluate complex numeric expressions with whole number exponents demonstrating the ability
to use the product, power, and quotient properties

Gearly show W@Simplify the exponent expression; then evaluate. Circle your answer.
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Ev.a.luate complex numeric expressions with negative integer exponents, demonstrating the
ability to use the product, power, and quotient properties.

@arly show v@ (1) Simplify the exponent expression using only positive exponents; (2)
Evaluate and give answers as simplified improper fractions. Circle your answer.
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